s making a picture frame:
o around all

ure?
1560 cm long and 50 €

rhe distance aroun :
d the lengths of all the sides t

Nhat is the perimeter of each fig
il |

m wide.

s 4 50 cm -+ 60 cm = 220 €

ure?

per-RIM-meter it

d a figure is called the perimeter.
the s o find the perimeter.

)
@ f
v
| i R

i

¥y
4

3. 2m

| 22m

| Find the perimeter. (Measure the sides in centimetres. ). ,

i

TE = 3
| \-. . l

)

1

a.

Use a calculator to answer these questions.

What is the perimeter of each figure?

1. 2% 1.8 cm
10 km
3icm, 18 ¢

3. 24 m 4
2m
38 m

3 m

5¢m
& em

1.1cm
1.7 cm

7 m 33 mm

5.2 km

Measure the sides irhcentimetres. Find the perimeter. g
8. \
9.

Al

o

LaIG CALCULATORS

550 km

What is the perimeter
of Alberta?

What is the perimeter
of Saskatchewan?

Saskatchewan

The perimeter of Manitoba
is 3730 km. How long
is the unmarked side?

300 km

660 km

What is the perimeter-of the three Prairie Provinces together
as one section of the country?



3.

Area = 20 cm?

What is the area in square centimetres? . =

ofr EmE b ]

What is the area in square metres? B=1m
5'. | | &
What is the area?

93 10. ¥ 11.
5m Im
4 cm

Choose the more likely area.

3. a record album cover: 961 cm? or 9 m2
14.  a dollar bill: 108 m* or 108 cm?

15. a basketball court: 364 m? or 364 cm?

Thirty-Six Squares

The drawing represents a rectangle that has an area
of 36 cm? and a perimeter of 26 cm.

Draw five other rectangles with an area of 36 cm?.
What are the perimeters of these rectangles?
Which has the smallest perimeter?




What is the area of the rectangle?

1.

o S
b ) = length x wi

ength x width g width

Iengt 6m x 4 m

PRSI 3
Area 5cm f 24 m?
Area = 15 cm =
] ; Ie.ngth =50m 4. length =195 cm 5. length =16 m
width =30 m width =8 em width =0.5 m

length =37 cm 7. length =85m 8. length=7cm

= length x width
width = 28 cm width =6 m width =55 cm

8cm x 2cm
= 16 cm? Measure the length and width in centimetres. Find the area.

A8 10. [
] |
What is the area of the rectangle? ' i ;i |
1. Area = length X width '
Area = 4m x 3m
Area = 5‘ m? e 12. A rectangle has an area of 32 m2.
The width is 4 m. What is its length?

9.

b
1A

11. A gym mat measures 6 m by 1.5 m. What is its area?

. Area = length x width 3. Area = length X width
‘Area = 80 cm x 50 ¢cm Area = l x B
Area = HR? Area = B~/ Deca

g 'l_'khgth = 16 cm 5. length = 24 m 6. length = 35 m “Deca’” means ten. 10 m = 1dam (decametre)
width = 10 cm width = 6 m width = 11 m

N Copy and complete.
Area = W Area = W Area = B 2

A. 1dam is: A telephone pole is
about 1dam long.

dm

Measure the length and width in centimetres. Find the area.
(4 .

dam

1
B. 8dam
dam




 Volume

The number of cubic units contained
[ | “__mnbEI

Tem Find the volume.
Volume = Jep th x width ighi
g : e 1. N8t X width x height
I h:!;?]ﬁﬁ-lﬁ"ﬂmme . e Tem 21 Volume = L I
B st o be used are: one cubic centimetre (Tems) L 5 Volume = mm - *
.m_ ! fm
e T L. cm_;]
c'ﬁ. tx:::;::s;‘ 2. length = 5¢cm 3. length=2m 4. length = 12¢m
cubic width = 3 cm width = 9m width = 5cm
There are 3 X 2 cubes in each layer height = 9cm height = 10 m height = 20 cm ‘
of the block. There are 2 layers. heighy 5. length = 8m 6. length = 5c¢m 7. length = 20 m [
2em width = 9m width = 10 cm width = 30 m
Volume = length x width x height height = 6m height = 15 cm height = 10m
Vaolume = 3cm x 2em x 2¢m |
Volume = 12 cm?* width S

2¢cm

8. A shoe boxis 30 cm long, 20 cm wide, and 15 cm high.
What is its volume?

9. A block with a volume of 36 cm? is 2 cm wide
and 3 em high. How long is the block?

Find the volume of the block.

Volume = length x width x height
Volume = 3 ¢m x Tem x 2¢m

Complete

= 3

Volume = B ¢ T % e =i 2 90 mm = M cm 3. 2m= Mcm
Volume = length x width x height A

Volume = 3 m x 3m x 1m Sahe:

Volume = o

4. Arectangular city block is 150 m wide and 250 m leng.
What is its perimeter?

Volume = length x width x height
Volume=m x m x 0
Volume = mm

Find the area.

5 = 6. length=12m
——~ width =9 m

Volume = length x width x height
Volume=m x @ x W
Volume = mm

Find the volume.

7. 8. length =7 cm
2m width =5 em
height =4 cm

Im




1cm” of water
@ raisin

% B =

Both have @ mass of about 18

kilogram
Tﬂﬂﬂcm|

L = a

Both have a mass of kg,
1kg = 1000 g

1m? of water

9
& o

Would grams, kilograms, or tonnes be used to measure the mass?

" @

What is the more likely mass?
7. five potatoes: 1kg or 5 kg 8.
9. an elephant: 400kg or 4 t 10.

11. five paper clips: 5gbrd5g 13,

13. one train car: 2t V-u

- @ c op

C R

a table telephone: 14 kg or 14008

alarge apple: 230 g or 2 kg

a one-year-old child: 1100 g or 11kg
two raisins: 2 g or 120 g

Choose the more likel\_r mass.

5. aturkey: 60 g or 6 kg

3. askiboot: 1.7 kg or 17 kg
sl 4 small car: 1t or 100 kg

Copy and complete.

7. 1kg=Mg 8.
10. 1t=Mkg .
13. Tkg+ 250g=Mg 14.
15. 4kg —500g = M g 16.

25 raisins:
3 L milk:
a tennis ball: 50 g or 550 g

9000g = M kg
5000 kg = M t
900g + 1100g = Mkg
1t= 100kg + Wkg

25g0r250g
300 g or 3 kg

9. 4000g = Mkg |
12. 2000kg = Mt

By how much is the mass smaller or larger than 1t?

17. 950kg 18. 2460kg 19. 0.5t

Solve.

20. 145kg

22. One tub of honey has a mass of 3.6 kg. What would

be the mass of 4 tubs this size?

23.  Mr. Bauer went on a diet. His mass went from 90 kg

to 78 kg. How much did he lose?

Stunning Tonnes

Make a bar graph of the masses of these whales.

Blue Whale
136t

Sparm Whale

Fin Whale 50t

43t

What is the mass of each whale in kilograms?

& Bottle-Nosed Whale

Killer Whale







